BAFFLED OIL CATCH CAN, PCV SIDE | A7 |MISHIMOTO

PARTS LIST & INSTALLATION GUIDE

PARTS INCLUDED 2. Remove the bolts on the fuel line cover.

(2x 10mm bolts)
Application-Specific Mounting Bracket

Compact Baffled Oil Catch Can

Spring Clamps

Direct-Fit Hoses w/ Integrated Check Valve
3/8" Aluminum Barbed Fittings

Mounting Hardware

TOOLS NEEDED

7mm Socket

10mm Socket i
17mm Wrench 3. Remove the bolts that secure the fuel line

1/4" Drive Ratchet bracket. (2x 10mm bolts)

2.5mm Allen Key
Pliers

INSTALL TIME
INSTALL DIFFICULTY

DISCLAIMER

4. Lubricate the three O-rings on the fittings and
catch can lid.

5. Thread the fittings onto the catch can. Use a
17mm wrench to snug down the fittings, 1/8
turn only.

6. Slide the catch can bracket behind the fuel line
bracket. Secure it with the original hardware.
(2x 10mm bolts)

INSTALL PROCEDURE

1. Disconnect the PCV hose from the valve and the
intake manifold. (2x spring clamps)

MISHIMOTO | 18 BOULDEN CIRCLE, NEW CASTLE, DE 19720 | P 1.877.GOMISHI | WWW.MISHIMOTO.COM



BAFFLED OIL CATCH CAN. PCV SIDE | A7 |MISHIMOTO

INSTALLATION GUIDE

7. Reinstall the fuel line cover. (2x T0mm bolts)
8. Install the catch can to the bracket.
(3x 2.5mm Allen bolts)

9. Note the two bigger clamps in your kit. They will
hold the hose connections at the catch can.

10. Install the outlet hose to the intake manifold and
OUT port on the catch can. The outlet hose is the
one with a check valve. (2x spring clamps)

11. Install the inlet hose to the PCV valve and IN port
on the catch can. (2x spring clamps)

MISHIMOTO | 18 BOULDEN CIRCLE, NEW CASTLE, DE 19720 | P 1.877.GOMISHI | WWW.MISHIMOTO.COM




